Problem:

A rectangular channel (bottom width b, Manning's roughness coefficient n ) flows y__ _ deep on a slope s.
A suppressed weir (height h__. , weir coefficient C__. ) is built across the channel.
Taking the elevation of the bottom of the channel just upstream from the weir to be z_, estimate (using one reach)

the elevation of the water surface at a point "A", H, , which is L upstream from the weir. (See figure.)
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Flow over weir is given with following equation:
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Check Bernoulli's equation:
HA:ZA+yA:1O6.9 ft

Hy =2z, +yB =106.009 ft
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Thus: H, =106.9 ft
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